* What Did I Start With?
Three in a Row Game

|1. Turn over a card and work out the answer. |

2. If you have that number on your card cover that |
| number with a counter, if not, turn it back over. |

3. The first person to get 3 in a row is the winner. |
|

Use fraction strips and objects to help you work |
"out the answer. Leave these on the table for gour|
| teacher to see. |
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12 & 8

20 6 15

10 14 22
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What Did I Start With?
Three in a Row Game

12 & 8

20 6 15

10 14 22
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14 16 12
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12 8 14
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10 9 6

12 4 16
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Our tree is 8 feet tall. | I gave Sarah 1 of my , # of the cars are parked
We have just cut 7 of it _ lollipops which was + | on the drive. How
down. How tall was our = of them. How many many cars are there

tree to start with? | lollipops did I start | altogether?

| with?
I
I
I

. +

|3 L of my fish are goldfish. | This is + of my money.
How many fish do I How much money do I
have altogether? have altogether?

This is one of 4 teams
playing football. How
many  children are
playing aItogether’?

—
O

T — — = — — -

| Half of the trees in my | I give the seal 7 fish. , TodayIlost+my money.-:
garden are apple trees. ~This is 3 of the food = This is what I have left.

| How many trees are in  he eats in a day. How = How much money did I |
| my garden altogether? ' much food does he eat " have to start with? |
| % ' altogether? |
| & ¢ | I
| | |
| | |
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1 of my fish are goldfish.
How many fish do I
have altogether?

If this is 5 of my tower,
how  many  bricks
have I used to build it
altogether?

2 of my pets are guinea
pigs. How many pets do
I have altogether?

- —— - - — =

I want to give each of
my dogs a bone. If this
e 1
IS 7z
many bones do I need
altogether?

of the cars are parked
the drive. How

of my dogs, how many cars are there
altogether?

I have walked 10 miles.
I have done ¥ of my
walk. How long is my
walk altogether?

Mum gave me + of the
strawberries. How many
did she buy altogether?

This is § of the wood I
need to bulld a hutch.
How much wood do I
need altogether?
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What Did | Start With?

Three in a Row Game Answers

Our tree is 8 | gave Sarah | 1 of the cars 1 of my fish are | | want to give 1 of the cars

feet tall. We | of my lollipops | are parked goldfish. How each of my are parked

have just cut 7 | which was z of | on the drive. many fish do | dogs a bone. If | on the drive.

of it down. How them. How many | How man have altogether? | thisis z of my How man

tall was our tree | lollipops did | cars are there 6 dogs, how man cars are there

to start with? start with? altogether? bones do | nee altogether?

16 feet 4 8 2ltogether? 3

3 of my fish are | Thisis ¥ of my [ This is one of 4 If this is T of | have walked Mum gave

goldfish. How moneg.?—low teams playing my tower, how 10 m|l1es. | have me 7 of the

many fish do | much money football. How many bricks done E of my strawberries.

have altogether? | do | have many children have | used walk. How long How many

6 altogether? are plaﬂm to build it is my walk did she bu
ép altogether altogether? altogether? altogether?

16 6 20 miles 12

Half of the | give the seal [ Today I lost 3 1 of my pets This is 1 of the

trees in my 7 fish. This is 7 | my money. This are guinea pigs. | wood | need to

garden are of the food he is what | have How man build a hutch.

apple trees. How | eats in a day. left. How much pets do | have How much

many trees are | How much food | money did | altogether? wood do | need

in my garden does he eat have fo start 8 altogether?

altogether? altogether? with? 15

10 14 22p
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